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RY IR WY %% [ PIe 2R 10K 9% — Do we say in the face of a
aet; ‘why would I lie’, or not.

Overview

The X713 queries: in a case where there is a 7P that contradicts a claim, and
a 1n that supports the claim, which is stronger; the 13°» that supports the
claim or the 1P that denies it. Specifically the case involves where the mb
claims 1" 7°ny10, however he could have claimed °1212 7°nNYA9, 1s this 1»
strong enough to offset the 7P of 1"1n ¥y X"X. NOOIN attempts to resolve
this query, however these attempts (but one) are refuted.

mooIn asks:

50791 92 Prxs 120 WPt — The 2''291 presented a difficulty with this query —
wwn XYY APt 97 X1 — For this 7 of 110 y79 X"X is stronger than a
note; the 7P enables the M1 to collect better than a qvw can. MO explains how this
is so —

TPIRWa RYR 729 WK wwaT — for if the MY possesses a "ww he cannot
collect from the 2°mn° (or 1192 X5w) unless he takes an oath that the money is
owed; however —

7YYaw K92 772 7Rt 772 — with this P of ™10 y7I9 XK, the 791 collects
from the 2°mn° without an oath;1 if their father died 1N, as the X previously
stated.

7% ROpaIm RP OR% 2 aR1 — and since this is so (that this P17 is stronger than
a W), what is his query if a wwn of 7pw? *2 71 is stronger than this 7pm? It certainly
cannot be stronger than this 7p11. For —

Nwws N7 — this is obvious -

J99%K R® 2979 2312 13T — that we do not say that a 13 can be believed
in the face of witnesses who testify against the litigant who has the . If one of the
litigants presents a claim for which he has a 1°n that supports it; however the other
litigant presents witnesses that contradict his claim; he is certainly not believed; despite
that he has a 1n. 0°7¥ are the strongest validation and proof. The strength of a v is the
0>7y that sign on it. A 70w can therefore be considered as o°7v. It follows therefore that if
there is a 13°n against a 70w it will not be believed since it is a 27V DIPM2 wn.2 We have
just surmised that 70w is weaker than the 7P, for with the 70w he cannot collect »n»
without a 7¥12w. Therefore if we cannot say a 0w 01pn1 13°Y, then -

7P 2pna v 9o — certainly we cannot believe a 2w when it defies this
ST of 11N Yo R -

"It would seem that we may be discussing (even) a P11 without a 2vw; there are 2>7v that it is "1 of the
loan. See X121 7"7 X7 'oN.

* It cannot be presumed at all that the 2"2> maintained that 7pin is stronger than o>7! Therefore it is likely
that the 0"2°1 presumes that 1R X? 0w 01pR2 W, since 0>y are backing the qww. It follows then that if
7P is stronger than 0w, we cannot say fpIN DPR2 1N,
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"ot R27Y7 — which is preferable more than the quw, for it enables one to collect
from o’ without a 7312w,

To summarize: The 7P is stronger than the "vw. The strength of the 70w is the o°7v. We
do not say 2>7v 0pn2 1 (or W 0IPn); therefore we should certainly not say 2172 131
711 which is stronger than the 2vw. Why is the X713 inquiring whether P11 21972 13°)
11°71R or not.

m»ooIN answers:

Yho wp K97 PR 11937 2N — and the ' says that there is no difficulty
at all

SRIAN SDYTY 27V X717 — for it is certain that 237y are preferable to 7Pt —
Wwhsw R 98T — for if 7Y testify that the M7 paid the mo»

1357 7102 99X — even within the allotted time; before the due date, the m» will
be -

MU — exempt from paying the loan, even though there is a P11 that he did not pay,
nevertheless the o°7y that testify that he paid are stronger than the P11,

T MR 1995R R 81 — and” if the 07y testify even after the time —

WA X5 1y — we know that the m> did not pay the mon

YRR K92 2921007 32 171233 71977 — he would collect from the 2%2n° without a
AY12W. The assumption that 7177 is stronger than the 27y (of the “vW) is incorrect. Q7Y
are stronger than 7p1m. Whatever P11 can accomplish (such as collecting from "0 2mn°
without a 7312w), the 0°7v can accomplish more. They enable the M1 to collect from the
271N even 13T NR? without a 7312w, Whenever the 7p11 and 277 conflict we follow the
testimony of the 0°7v against the npm. When 2°7v testify that he paid "0, the m>n cannot
collect (even from the 717). Therefore from the fact that we do not say 2>y 01pn2 W0 we
cannot derive that we do not say fpIT 01212 1°n; O°7Y are stronger than 7pI7.

m»oIN continues:

"W 19 WO YA PAxw A — and the reason why the m9» is required to
swear when he attempts to collect from the 2°»1n° when he has a ="ww;
seemingly if when there is a P11 he collects without a 7312w, so by a 70w which has the
power of 27V he should certainly be able to collect without a 7y12w (since MdOIN
concluded that o°7¥ are stronger than 7p11); the answer is —

LW TINR 72w WKW o5 w1t — that is because it is not totally evident
from the "vw itself —

RY a8 ¥0 an — if the M7 paid or not. The o>y on the 7w testify that there was a
loan. They do not testify whether it was paid or not. Therefore there are no 2°7¥ that
testify that this loan is still owed. That is why a 7312w is required. The fact that the m>n is
holding the 7w is not conclusive evidence that the m?> still owes the money —

RI507 SWWDR 790 17 Pty — for occasionally the m%» will retain the
7vw even if it was paid up, on account of the coins that are due the scribe

? See “Thinking it over’ # 1.
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for writing up the “vw. It is the responsibility of the Mm% to pay for the scribe’s work.
Occasionally the m? is even lacking the few coins necessary to pay the 910. The Mm%
agrees to lay out these monies, but will not return the paid up " to the M, until the M
repays the 9507 "0 Wws.

(%,° 77) NDIXR R22T RMAP 2952 13997K72 — as the X9na states in the first pap of
n''2 noon.

When the m>» holds the 20w it is not comparable to 0*7v testifying that he owes money.
There is always the concern that the loan was paid. Therefore he cannot collect from the
o°mIn° without a 72aw. It is not a weakness in the 77 of 0°7v; rather it is a weakness in the
proof of holding the qvw. It is possible that we do say 0w opna wn.

mooin asks a different question:

2pn onT Twp I8 — however there is a difficulty, that notwithstanding
what was previously said concerning 2°7¥ and a 0w

vwen — the X173 should resolve this query —

TP 2PR2 1AM 1R K97 — that we do not believe a 3o» against a pm;
we can derive this —

(2w 3,m 07 myiaw) PYAWIT D2 P52 MRT KX 92 MR — from 11''29, who says
in PPYawT 92 P91 the following:

"L 17°21 HIR 7oponT — one who deposits something by his friend with a
note stating that he deposited a specific item; the 17 is —

[*a°7wa] (Awwsa) ¥ 7°1m7% 791% — he is required to return the deposited item
to its original owner in the presence of witnesses. If he has no witnesses that he
returned the item; and the depositor shows the 175 7vw, the recipient of the deposit -

T2 Snatnn b g X9 — is not believed to say I returned the 1175 to
you, even though he has a -

JOIRIT MR Y2 ORT w2 — won that he could have claimed they were
accidentally lost or stolen, etc. Had he claimed 10181 he would be Mud from paying,
provided that he swears the 0w n»aw. Nevertheless now that he claims 10181 he is
not believed (even with a 7312w); rather he must pay for the > 79, The reason the 2 is
not effective, is —

Y2 %R vx»T 2w — because the depositor can say to the recipient; if you had
returned it to me I would have returned the 175 “vW to you, so -

SYa SRP 9792 LR — what is your "uw doing in my hand; how come I still
have the "vw. The fact that the "W is in the possession of the 11757 %¥2 proves that the
21w did not return the 117p5. This concludes the citation from the X723 in Ny12w. We see
from that X7n3 that a 2 is not effective against the claim of 2 >X» >7°2 77vw. This claim
of *¥2 °Xn 772 70w is conclusive evidence that the Tvwn %¥2 is owed (money). If the wn
is not effective against the 0w —

* See 0"wn non.
% See qwwa 11"7 2,7n Mwaw Moon for different interpretations of sT"27 ruling. This MooIN seems to follow
the view of the (X237 R 73"7 X,XY 19p) 2"2wn. See "1 nwn noM.
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TIPIM IPRD 1A AR KYT 1w 921 — then certainly a 3% cannot be effective
against the 72177 of "0 y7o XX

N297Y Pt —for the 7P1m of 110 719 X"X is more effective than a "vw; since
with the p1n, the Mo -

FYI2W 799X PRT — is not required to swear to collect from the 271> —

U3 ORM 9792 TwwT XYWy — however the claim of >3 587 5792 70w —
7Iawn 1918 217 R — is not sufficient to exempt the m%» from a 2w if
he wishes to collect from the o°mn>.

X 12 "7 taught us that the 71vv of “¥a "Xn >7°2 70V is stronger than a 1n. The 7P of
"N ¥ X"X is stronger than *¥2 "Xn >7°2 770 as evidenced by the fact that 711 exempts
from a 7¥12w and the "W does not. If there is no 7w 21p12 11 then there is certainly no
aPIn oPn2 wn.® What is the ®°v2°X of the X713 (according to n"27)?!’

mooin offers a possible response:

N2777 R0 Rnw — perhaps the X973 here that inquires whether P Dpna Wn
711K or not —

N1 92 9295 77720 XY — does not agree with 11''29; it may maintain that a wn
Tvw 01Pn2 may be valid. If the 9mw claims 101817 1312 N7 he may be believed (with a
7v2w). Therefore the X713 inquires as to what the 1°7 is by a 7P 21PP2 13N,

moon will offer other places where there is a discussion concerning 7P QPR 130;
however they are not relevant to our discussion here.

b9 "7 891 — and our X713 is not at all comparable —

(@@ 2,70 97) MINT PO [PRATP]T RIAD — to that X3 in D [PRITP Noon]
ARING —

2NN 799 NORT 9 PIIART K397 KT — where the X3 states that in a case

where it is known that a married person has brothers, however we are
unaware that he has children; which would require his wife to receive either 212° or 7%°%n
upon his death —

212 %% @ 2R — and he claimed before he died that ‘I have children’. His
wife will be Mo from 7%°%m 012° if we accept his testimony. However this claim of
exempting his wife from 012° goes contrary to the 7p17; until now it was presumed that he
had brothers and was childless, which obligates her for 012°, nevertheless the 1°7 is

%817 — that the husband is believed; upon his death she is 7%°%m 2122 71w, The
reason why he is believed against the 71 that she requires 7%°%m 0122, is —

R332 79 9uD w2 987 13 — for he has a 137, that he could have exempted

her from the 012’ obligation by giving her a wa. That X3 seems to maintain that

® See ‘Thinking it over’ # 2.

7 In the X°wp of the 2"2™ it was assumed that a qvw is equivalent to 279. We know that the 7ipii is stronger
than a 7uw alone, regarding the 712w for o>mn. It is also known that 1R X2 077y o1pra 0. If we equate
quw with 07, and 77p17 is stronger than uw, therefore if 197K RS (MVW) 2°7v 21PR2 W then AP QPRI AN
1R 2. This question was negated that a "o is not 0>7v. However n'"27 says distinctly that uw 21pn2 3
1R K2, then for sure 1R X7 7RI DPRa Wn, since 7P is definitely stronger than “ow.
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a wn is effective against a .'ipm.8 We are forced to say that the 7P 01Pn2 o1 there is not
at all similar to our P11 21Pn2 Wn. The reason we must say that they are not comparable
is because in our X773 it is questionable whether we say 7p1m 2322 11 and in N7 P79
we believe him with a 7pn 21p22 wn. However mvoin does not explain how the two
cases are different.’

(21 &,0p 77 M) BIPW STWNTT X7 391 — and similarly that X723 in 7wRT P9
2w

w27 — where the X713 queries:

avwa mann RO P — she established that there is a war elsewhere in
the world; and she claimed that her husband died there. Is she permitted to remarry or
not.'® The xm3 there explains the two sides of the query.

o7 %R o — do we say that we should believe her that he died for she has a
R —

29v2 2w 7R w2 987 — for if she wanted to lie she could have said
there is peace in that part of the world where my husband died. If she would have
said that, since we are unaware of any war there, she would have been believed, therefore
we should believe her now with this 3.

X297 18 — or perhaps we do not believe her, for —

N7 Pt 192 — once she established that there is war where she claims her
husband died and we know that in the time of war —

772 12RY — she says he died even if in reality she only assumes that he
died, therefore —

"PwY 9% 177 ONKR K — this 13" cannot come and be effective —

ey — and to weaken the ;P11 that in the time of war a woman’s claim is
merely a *»772 — an assumption not an actual testimony.

Nova N7 Py ani sn»2) — and the X3 there discusses a similar query
as ours; this compels us to say that the query there -

R2777 779 995 7 K9 — it is not at all comparable to this query here. If they
are similar why mention the query twice; in our X723 and in M»2°. Again Mo01N does not
explain why they are not similar'".

8 Up to this point she was P1w" 2> Mo°R np1na. This 7ptn contradicts his claim that he has children and
therefore she should be P 0’7 npIna.

? One explanation given is as follows: In 7 19 the fact that he has brothers does not preclude his claim
that he has sons, the two are not contradictory, and therefore the 13n is effective. In our case the 7pm of X"X
1"\n ¥ contradicts completely his claim of 1"n *ny7s, therefore there is a possibility that such a 13°» is not
effective (See n"nn).

10 The 177 is that if a woman comes from overseas and claims that her husband died, she is permitted to
remarry. If however there was a war there, she is not permitted to remarry even though she claims that her
husband died. The reason she is not believed in the latter case is because we are concerned that in wartime
since so many people died and she cannot find her husband she ‘assumes’ that he died without actually
knowing for sure that he died.

' See mpon in (R "7 ®,1"up) 217w Awsn who explains that there the P11 and the claim do not contradict
each other. It is possible that there is a war (and even if she is claiming °n772) and yet the husband died.
However, here the 1P and the claim conflict with each other. Therefore no matter how we would resolve
the RX°v2°XR here the X°¥2°XR there in N»2° would remain. If we were to resolve that J°72K 710 D1pR2 A,
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mMooIn has a different question:

(%7 n7) ONPW RS2 PUB2 NIRat2 ANt wp v — however there is a
difficulty from what we learnt in a 7w in n123% N207 in w''3 P99

TORRW 3 — a sister-in-law, who went through the 012 process and was
subsequently divorced. If she claimed —

2 aywhw 70 — within the first thirty days after the 012°; she was divorced
within thirty days and she claims —

snbya1 X7 — there was no relationship with me, the 02> did not perform nx-a
with me during our marriage and therefore I still require %91, since I am still 12 appr
o012 —

NN 19212 — 17 N2 forcees the 02’ to give the 7¥°%1 7n2. However if she complained to
7", when she was divorced -

21 2" nR — after thirty days have passed from the original 212> date, then -
117577 PRpan — 72 merely requests from him that he should give the 7x°%n 702
however 7"2 does not coerce him. This is the miwn.

an? wapnY — and the X723 explains there; why is there a difference whether the
divorce took place within thirty days or after thirty days —

2 b 77 — for up to thirty days when a man is together with a woman —
WDIR WOIK P — a person can control himself, and withhold his temptation
to have x"2. However —

"1 R? "D — more than thirty days he cannot control himself, and by that
time he will certainly have had X2 with the 12,

2" 2w nRY 7291 — and therefore after thirty days have passed since the
012’ before she was divorced, and then she comes to complain —

MIN 1°20 PR — we do not coerce him to give nx*5n for it is assumed that he
already had %2 with his 722°

N9 897 — for the n2 is not believed. It goes against the 7pin of *pm X% *ov. A
person cannot contain himself for more than thirty days. This ends the quote from the
X713 there.

mooIn concludes his question; the woman is not believed 711 2112
3°% 7 NIRT 23 YY X — even though she has a %
%R a2 98T — for if she wanted she could have said

"5 K129 127 198 — he is incapable of having 118°2 with me; he is physically
dysfunctional. If she would have made such a claim —

nnaRiaT — then she would have been believed —

nevertheless in N112° we still may not believe the woman since she may be saying a claim of *»773; not a
72 N as in 1", If we were to resolve that 13K X2 71 0102 11, we still may believe the awx that her
husband died; since the fact that there is a war does not preclude his death.

'2 A 72> has an MO°X to marry anyone but her brother’s —in-law, until she had %2 or received 7> from
one of her o’n2°. Marriage without 71X"2 is insufficient to remove this M0X.
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(%,x% 77) 2971 N2 MMTS — as it is evident in the end of 2971 No0n that a
woman is believed to claim *?¥ X122 715° WX, The question is that there in m»2 there is a
TPIN DPn2 Won; the P is that a person will be 9312 by thirty days which contradicts her
claim of >n%¥21 X%. On the other hand she should be believed that *n%¥21 X7 since she has a
1 of *9Y X125 9157 R, The mwn there rules that she is not believed. That proves that 137
1R R2 P11 0Pn2. Why therefore is there an X°¥2°X in our X3 if 1K 7RI 2PN N
X% 2! Mmoo does not answer this question.'?

Summary
The apm of 1" y71d XR"X 1s stronger than W (because a VW cannot prove

conclusively that the loan was not paid); however it is not stronger than 2°7.
Our X713 seemingly maintains that a 13» may be valid against a WY (in
opposition to 11"27). The X2} here is where the 7P and 7w directly
contradict each other; otherwise we may say 7P Q3P 132, By a 712’ we do
not believe a 131 against a 7p11, which seems to conflict with the query here.

Thinking it over
1. mpoIn offers two proofs that 07y are stronger than 7p1m. Why are both
proofs required?"*

2. How does nmooIn compare the NP 0w of n"a1 to a mon "ww of our
X132 By a mn q0w a avaw is required by 20 since we are concerned
that the m>n retained the "W because of the 1507 *vw» (it is possible that a
1n would be believed against a m>» T0w); however by a 1N7po "W the 7°pon
pays for the q0w; there is no 907 "vw»s, therefore the mywy of *&Xn 772 VW
*¥1 is sufficiently strong to negate the 137!

3. If we were to assume in our X3 that we do say 7Pt 0pn2 0, would
that necessarily mean that 13°» is stronger than 7pm? How can this possibly

answer Noon last question from 12°?'°

4. Differentiate between the various Mp1 and 1% that M201n discusses.

" See “Thinking it over’ # 3.
4 See footnote # 3.

15 See footnote # 6.

16 See footnote # 13.
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